Dip and Pick card 4
Complete it in this order; orange, blue, pink then red.
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Lorry A has travelled half the miles
that lorry B has travelled.
Lorry A has travelled more than 32
miles and lorry B has fravelled no
more than 74 miles.

Find five possible combinations of miles
that the lorries could have travelled.
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CARD 4

Alorry can carry 8 cars.
‘Thera are 12 lorries in the car park.
Each lorry is full of cars.

How many cars are thare on the lorries n fotaf?

Half of the lorrias leav the car park.
How many cars in fotal will now ba
the car park?





